-

o(0 @) (rad)

L C4
M r R ) Il
o1004—— dbblo bl bbb
- :
o 1A1-— ----------------- B of b U I R X
| S FEERY 5 5 HEEE Y0 AR § B
F +
— 3
107t 1 10 02 1
TP, (PCA t% beamling
—=— DQM_CKF_TTbase
—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWP_epoch4
=
5
=
-
<
o}
o)
=
o]

2 F

I F

o 1.1:— ------------------------------
B SSURt §11011 5 0
.c'_l X '2 .
10 ! TPlp?T (PCA t%obeamliné'f)

~ 1

2

"

o

o

5

Ratio

a(d cot(d))

=
<

107

R o o SRR o PP

2 3
TPlpg)T (PCA t%)obeamlin%)o

z

oo a,) (cm)

=
<
[

0.95

1



	Contents
	Page 1


